This AMENDING AGREEMENT is from the 1st day of January, 2015 to the 31st day of December, 2022

BETWEEN:

HER MAJESTY THE QUEEN IN RIGHT OF ONTARIO AS REPRESENTED BY THE SOLICITOR GENERAL ("Ontario")

-and-

THE CORPORATION OF THE MUNICIPALITY OF WEST ELGIN
THE CORPORATION OF THE MUNICIPALITY OF BAYHAM
THE CORPORATION OF THE TOWNSHIP OF SOUTHWOLD
THE CORPORATION OF THE MUNICIPALITY OF CENTRAL ELGIN
THE CORPORATION OF THE MUNICIPALITY OF DUTTON/DUNWICH
THE CORPORATION OF THE TOWNSHIP OF MALAHIDE

("the Elgin Group")

BACKGROUND

- A. The Parties entered into the Agreement for the provision of Police Services under Section 10 of the *Police Services Act* (the "Agreement") which commenced on the 1st day of January 2015.
- B. The Agreement includes all the Schedules and Appendices to the Agreement.
- C. Pursuant to Section 29, the Parties may amend the Agreement by written agreement.
- D. The Parties wish to further amend the Agreement as set out in this Amending Agreement, by extending the duration of the contract to conclude on the 31st of December, 2022, as supported by:

Bylaw # XXXX, dated MMMM DDth, 2021 of the Corporation of the XXXX (attached as Schedule "A").

NOW THEREFORE, the Parties agree as follows:

- 1. Section 26 of the Agreement shall be replaced with the following:
 - 26. Notwithstanding the date upon which this Agreement is signed, the term of this Agreement shall commence on the 1st day of January 2015, and shall conclude on the earlier of (i) the 31st day of December, 2022 or (ii) the date that the Community Safety and Policing Act, 2019 comes into force.

Relevant terms and conditions of the Agreement, that are not specifically amended but that relate to the amendments set out in this Amending Agreement shall be deemed to be

amended so as to give effect to the changes herein.

Except for the amendments set out herein, the terms and conditions of the Agreement remain in full force and effect and time shall remain of the essence.

Notwithstanding the date upon which this Amending Agreement is signed, this Amending Agreement is effective as of the 30th day of December, 2021.

FOR ONTARIO	
	Deputy Solicitor General, Community Safety
FOR THE Corporation of	
the Municipality of West Elgin	Mayor
	Chief Administrative Officer
	Date signed by Municipality:
FOR THE Corporation of	Mayor
the Municipality of Bayham	Mayor
	Chief Administrative Officer
	Date signed by Municipality:
FOR THE Corporation of	
the Township of Southwold	Mayor
	Chief Administrative Officer
	Date signed by Municipality:
FOR THE Corporation of	
the Municipality of Central Elgin	Mayor
	Chief Administrative Officer
	Date signed by Municipality:

FOR THE Corporation of the Municipality of Dutton/Dunwich	Mayor
	Chief Administrative Officer
	Date signed by Municipality:
FOR THE Corporation of	
the Township of Malahide	Mayor
	Chief Administrative Officer
	Date signed by Municipality:

Schedule "A"

BY-LAW OF THE MUNICIPAL COUNCIL Elgin Group



Schedule "C" OPP 2021 Annual Billing Statement

Elgin Group

Estimated costs for the period January 1 to December 31, 2021

		_	Cost per Property \$	Total Cost \$
Base Service	Property Counts			
	Household	18,079		
	Commercial and Industrial	885		
	Total Properties	18,964	177.48	3,365,653
Calls for Service	Total all municipalities Municipal portion	168,336,779 1.4900%	132.26	2,508,169
Overtime			11.20	212,308
Court Security			9.54	180,918
Prisoner Transportation	(per property cost)		2.11	40,014
Accommodation/Cleaning Services	(per property cost)	_	4.68	88,752
Total 2021 Estimated Cost		-	337.26	6,395,813
2019 Year-End Adjustment	\wedge \vee			123,458
Grand Total Billing for 2021			_	6,519,271
			<u>-</u>	
2021 Monthly Billing Amount				543,273

West Elgin M

Estimated costs for the period January 1 to December 31, 2021

			Cost per Property \$	Total Cost \$
Base Service	Property Counts			
	Household	2,978		
	Commercial and Industrial	179		
	Total Properties	3,157	177.48	560,291
Calls for Service	Total all municipalities Municipal portion	168,336,779 0.2165%	115.43	364,398
Overtime			8.34	26,340
Prisoner Transportation			2.11	6,661
Accommodation/Cleaning Services			4.68	14,775
Total 2021 Estimated Cost			308.03	972,466



Bayham M

Estimated costs for the period January 1 to December 31, 2021

			Cost per Property \$	Total Cost \$
Base Service	Property Counts		_	
	Household	2,717		
	Commercial and Industrial	136		
	Total Properties	2,853	177.48	506,339
Calls for Service	Total all municipalities Municipal portion	168,336,779 0.2147%	126.67	361,403
Overtime			14.10	40,218
Prisoner Transportation			2.11	6,020
Accommodation/Cleaning Services			4.68	13,352
Total 2021 Estimated Cost			325.04	927,332



Southwold Tp

Estimated costs for the period January 1 to December 31, 2021

			Cost per Property \$	Total Cost \$
Base Service	Property Counts			
	Household	1,772		
	Commercial and Industrial	65		
	Total Properties	1,837	177.48	326,023
Calls for Service	Total all municipalities Municipal portion	168,336,779 0.1701%	155.90	286,396
Overtime			10.48	19,260
Prisoner Transportation			2.11	3,876
Accommodation/Cleaning Services			4.68	8,597
Total 2021 Estimated Cost			350.65	644,153



Central Elgin M

Estimated costs for the period January 1 to December 31, 2021

			Cost per Property \$	Total Cost \$
Base Service	Property Counts		_	_
	Household	5,708		
	Commercial and Industrial	257		
	Total Properties	5,965	177.48	1,058,644
Calls for Service	Total all municipalities Municipal portion	168,336,779 0.5018%	141.62	844,788
Overtime			11.93	71,133
Court Security			30.33	180,918
Prisoner Transportation			2.11	12,586
Accommodation/Cleaning Services			4.68	27,916
Total 2021 Estimated Cost			368.14	2,195,985



Dutton Dunwich M

Estimated costs for the period January 1 to December 31, 2021

			Cost per Property \$	Total Cost \$
Base Service	Property Counts			
	Household	1,673		
	Commercial and Industrial	73		
	Total Properties	1,746	177.48	309,873
Calls for Service	Total all municipalities Municipal portion	168,336,779 0.1472%	141.90	247,759
Overtime			13.43	23,455
Prisoner Transportation			2.11	3,684
Accommodation/Cleaning Services			4.68	8,171
Total 2021 Estimated Cost			339.60	592,942



Malahide Tp

Estimated costs for the period January 1 to December 31, 2021

			Cost per Property \$	Total Cost \$
Base Service	Property Counts			
	Household	3,231		
	Commercial and Industrial	175		
	Total Properties	3,406	177.48	604,483
Calls for Service	Total all municipalities Municipal portion	168,336,779 0.2397%	118.45	403,426
Overtime			9.37	31,901
Prisoner Transportation			2.11	7,187
Accommodation/Cleaning Services			4.68	15,940
Total 2021 Estimated Cost			312.08	1,062,937

